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Note :  The maximum marks printed on the question paper
are applicable for the students of Category ‘B’.
These marks will, however, be scaled down

proportionately in respect of the students of

[P.T.O.



regular colleges, Category ‘A’ at the time of
posting of awards for compilation of result.
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Attempt any five questions in all, including

question no. 1 which is compulsory.
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Part] (9T &)
Office Management (STIiera Taier)

1. Write short notes on any three : 11

(a)
(b)
(c)
(d)
(e)
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Postal order
Promissory Note
Railway Receipt
Saving Bank Account

Facsimile Telegraphy
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What is an office ? Discuss the functions of an office.
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Describe the different steps involved in planning a

filing system for a medium sized office. 13
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Which indexing method would you recommend for a
Library ? 13
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QOutline the function of dispatch section of mailing
department. 13
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6. State the essentials of good system of dealing with

stationery. 13
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Part [1
Stenography (English)
Note : (i) All the answers in this part should be written
only in English.

(ii) Attempt any four questions in all including

guestion no. 1 which is compulsory.

1. Attempt any four out of the following giving suitable
examples : 11

(a) What is stenography ?

(b) What are the various divisions of consonants
according to classification 7 Group the consonants

accordingly.

{¢) What is the difference between Diphthongs and
Diphones.

(d) Explain in brief the meaning of vowel and their

uses in Pitman’s Shorthand.

(e) Give four examples where dot ‘H’ is used.
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() Write the following Punctuation marks in
shorthand :

(i) Dash (i1) Paragraph (iii) Colon (iv) Comma
2. Fill in the blanks with suitable words given in the
brackets : 13

(a) Pitman shorthand was invented by Sir Isaac
Pitman in (1837/1840)

(b) Pitman system is based on

(consonants /phonetic)

(¢} The word fewer is composed of sounds.
(Diphthong /Triphone)

{d) Circle ‘S’ can be added on the side of the
loops. (same /opposite) '

(e) Diphones are vowels  sounds
pronounced separately. (Two/Three)

3. Write the following Grammalogues and Phrases in

shorthand : 13
Young They-are

Wonderfully [s-to-be

Satisfaction Too-much
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Principle If-he-were

Pleasure Why do you
Surprise Better than
Thyself Upon-their
Sure In-their
Subjection Your-last-letter
QOurselves This-was

4, Write the following words in shorthand :

Usefulness Laps
Backyard Lover
Friendship Sale
Sentiment Ask
Minority Trash
Occasionally Radish
Fish Overlook
Dash Unload
Finish Loud
Sweedish Saloon
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5. Write the following paragraph in shorthand : 13

The judge in-his charge to-the jury said : This poor
boy’s injury is very severe, and-if what-he states is
right, it-was due to-the absence of a hooter on-the car
which Robinson drove along the arcade at a very fast
rate, his speed, if-we-can take-the story gf-the police as
correct, being at-least forty miles an hour, far too fast in
so busy a thoroughfare. The boy says the car came on
with a rush, no alarm was given, he-was struck and
thrown with a force so terrific as ro-break his right leg.
If-you think his story is right, you-will give him
damages. If-you assume his story is wrong, and-if it
appears to-you the injury was caused by his own lack of
vigilance, you-will refuse him the damages for-which he
asks. You-must carefully weigh both-the boy’s case
and-the case as set out by Robinson and decide on-the

facts as-they appear to-you.
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6. Write the following in English : 13
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